
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers of the questions of week 4 should be handed to me at the beginning of Monday’s lecture of 27th of March. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please write WEEK 4 in bold at the beginning of your answers.

L6:

1.Consider the circular flow of the beginning of the lecture, but with ADt = 200€ and Idt+1 = 36€.

a) What must happen for the CB’s optimistic view to hold? Explain.

b)  Why may that view not hold? Explain.

2.  Assume that I remains fixed at 36€ during the whole semester.

a) By how much will the money stock change in February? Explain.

b) By how much will output change in February? Explain

c) The same two questions, but about March.

d) Present the recessive spiral that takes place over the successive months.

e) When will that recessive spiral end? Exaplian.
3. Suppose that saving in a closed economy is initially = 0. If all people decide to save, that will not be enough for an increase in consumption possibilities between today and tomorrow. Why?

4. Suppose that saving in a closed economy is initially = 0. If all people decide to save, according to the CB’s view of the economy an increase in consumption possibilities between today and tomorrow will take place.


Why? What will happen to the level and the composition of output? Explain.

5. Suppose that saving in a closed economy is initially = 0. If all people decide to save, according to the Keynesian view of the economy an increase in consumption possibilities between today and tomorrow will not take place.


a) Why?

b) What will happen to the level of output, the amount of savings and the quantity of money? Explain.

6. Despite private investment permanently below private saving over the past 20-odd years, Japan’s economy has remained near full-employment. What made this possible? Explain.
7. Why has Japanese private investment been so low over the past 20-odd years?

L7: What determines the level of profits in a certain semester? Keynes ->Kalecki’s 
8. What determines the level of output in both the Keynesian and the Kaleckian models? Explain.

9.a) Write the structural form of the Keynesian model.

b) Which factors influence AD in the Keynesian model? Explain.

c) Obtain the Keynesian model.

10. a) Write the structural form of the Kaleckian model.

b) What are the two determinants of AD in the Kaleckian model? Explain.

c) What’s the difference between the Keynesian and the Kaleckian multiplier?
“Workers spend what they earn whereas capitalists earn what they spend” (Kalecki)

11. “If AD determines income, then capitalists earn what they spend.” Present the mathematical explanation for this assertion.

12. Aggregate profits cannot come from businesses revenues generated by workers’ consumption. Why?

13. “In aggregate, capitalists’ expenditure is responsible to all profit income”. Do you agree? Explain.

14. Suppose that the profit share is 2/3, the MPCp=0, the economy is well below FE and suddenly a capitalist increases his expenditure by 100€:

a) How much does another capitalist immediately get as revenue? Explain.

b) How much does this other capitalist immediately get as profits? Explain.

c) How much does wage income immediately rise? Explain.

d) In a second step, how much do other capitalists get as profits? Explain.

e) In a second step, how much do workers get as income? Explain.

f) Write down the successive increases in capitalist’s profits. 

g) Present the economic (not the mathematical) reason why these successive increases in capitalist’s profits must be equal to the initial increase in capitalist consumption.

Three sectors:

Kalecki (1954, p.240):
“The capitalists of the sector that produces basic consumption goods, after having sold to their own workers the quantity of the goods that corresponds to their own wages, are left with a surplus of basic consumption goods that will correspond to their own profits. This surplus of basic goods will be sold to the workers of the two other sectors and, since these do not save, the value of those sales will be equal to their wages.” Thus, the profits of the basic consumption goods sector are equal to the sum of the wages of the investment goods sector and of the luxury consumption goods sector.

15. Why can’t the profits of the basic consumption goods sector reflect the demand from wages of that sector?

16. The profits of the basic consumption goods sector reflect the demand from which incomes? Explain.

17. What determines aggregate wages of the investment goods and luxury consumption goods sectors? Explain.

18. Present the causality chain that exists among the following variables: (i) profits of the I and Clux goods sectors, (ii) wages of those sectors, (iii) profits of Cbasic foods sector, and (iv) capitalists’ expenditure.
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